<ERRYNEYT—Par>

[(BXEREMH ]
[EAZE] |[BEE 6 11.1%
XIS 17 31.5%
Z D 31 57.4%
o] & 0.0%
BET 54]  100.0%
[(mE] |EFREHR 6,124 27 ok
S F| &R 1,710 e
(] TFiE 2 3.7%
B 1 1.9%
it 2 3.7%
[ 2 3.7%
th A 3 5.6%
i 3 5.6%
RE#N 1 1.9%
Intd 3 5.6%
E\H 4 7.4%
=3 4 7.4%
& 7 13.0%
53] 6 11.1%
SFUU 4 7.4%
% 5 9.3%
BE 4 7.4%
EN=] 3 5.6%
a5 54]  100.0%
[(IEH—EXEHEKR]
EETESES
BEY—EX(ENE)
JNEYT R AV 54 94.3%
XERE 7 2.0%
D RERER L 16 9.6%
NEEFH(EXE)
BB RR M EE M £ 51 97.1%
RERE 5 3.8%
ORERsEm £ 7 3.5%

sorkETAM 25 [Z DU N Twkok

(O0.0R) :SMEXFEHFTY FIRELETY)

12 25 35 45 5=
TETLVEW TETWS
(F~3i) (i)

(E51]

(5 7]

(X]

(ENEE]

(REA#E]

[A—H—(FIRAE)BH% ]

Bt 539 40.6%
Eogkd 693 52.1%
|mEE 97 7.3%
&5t 1,329]  100.0%
4075 ~647% 100 7.5%
65F~74% 265 19.9%
75%~79m% 240 18.1%
80% ~847% 268 20.2%
85% ~947% 386 29.0%
95m Lt 52 3.9%
i RS 18 1.4%
&5t 1,329]  100.0%
Tig 62 4.7%
£l 30 2.3%
it 58 4.4%
iz} 49 3.7%
ol 58 4.4%
H 46 3.5%
RE#0 55 4.1%
Intd 78 5.9%
M 64 4.8%
)il 123 9.3%
; 175 13.2%
£ 109 8.2%
= 86 6.5%
% 114 8.6%
£ 61 4.6%
XA 61 4.6%
Z Dt 85 6.4%
g EIRSS 15 1.1%
&5t 1,329]  100.0%
EXiET 86 6.5%
EXiE2 277 20.8%
ENEE 147 11.1%
EiiE2 357 26.9%
E/EES 229 17.2%
ENiEa 145 10.9%
ZENEES 51 3.8%
iR 1 0.1%
EmOZE 36 2.7%
&t 1,329]  100.0%
AN 460 34.6%
RERE 717 54.0%
Al ER& 85 6.4%
Z Dt 17 1.3%
g EIRSS 50 3.8%
&5 1,329]  100.0%




